
1I �����	� �� ��������
�	 ��������	�

�
�
� 0∗∗3 ����
|ω1 ± ω2| ≥ |ω1|, ���� |τ ± 1| ≥ |τ |


�	 	���� |Re τ | ≤ 1/2'

CQ
���� ���� Zω1 + Zω2 ⊂ Per f ' ,
� �
� ω ∈ Per f '  � ω1, ω2 
��
 R!8���� :��
C ���5 ���� 
� α1, α2 ∈ R ��� ω = α1ω1 + α2ω2' 9
� (<��� ��� mj ∈ Z ���
βj = αj −mj , |βj| ≤ 1

2
, j = 1, 2'  ��� ����

ω′ := ω −m1ω1 −m2ω2 = β1ω1 + β2ω2 ∈ Per f.

)�� β1 = 05 �� ����� ω′ = 0 �
�
��� �
� 	
� 8
��
*�
��' 9���� ��� β1 �= 0 ��5
�� ���� ��������� ω′ ∈ Per f \ Zωf 
�	

|ω′|2 = |β1ω1 + β2ω2|2 = (β2
1 · |τ |2 + 2β1β2 · Re τ + β2

2) · |ω2|2
≤ (β2

1 + |β1| |β2| + β2
2) · |τ |2 · |ω2|2 ≤ 3

4
|ω1|2 ,

(
�� ��� 0���3 �
������������'  �� ��� 
�� ��	
��*�
�� ;
 0∗∗3' ���� ����� ω′ = 0

�	 �
�� Per f = Zω1 + Zω25 	' �' 0)))3' ��

$� �
� V 
�� �

��
� @
������
� 	
� 
�	����
�  ��
����� n ≥ 15 ���� ;' 8'
V = Rn' $��
 �
���
��
 Ω :�� V �
�J� 
�� ������ �� V 5 (
�� 
� 
��
 R!8����
(ω1, ω2, . . . , ωn) :�� V ���� ��� Ω = Zω1 + Zω2 + . . . + Zωn' ��� �
��� 	���
(ω1, ω2, . . . , ωn) �
�� 
��
 $
��� :�� Ω' $��
  ����
��
�� 
��
� ω ∈ Ω �� 	
�
4���

ω = m1ω1 +m2ω2 + . . .+mnωn ��� m1, m2, . . . , mn ∈ Z

�
��� ��� �
�� 
��
 ��
�
����,�

���
 ��
 ω ����� ω1, ω2, . . . , ωn ",�� Z#
CQ
���� ��� ��� Ω �
�� λΩ := {λω ; ω ∈ Ω} 
�� H���
� �� V 5 ����� 0 �= λ ∈ R'
)� 4��� 0)))3 ��� 	�
 D
���	
��
��
 Per f ���� 
�� H���
� �� R!@
������
� C'
)� �������� �
� �
��� � 
�	 	�� 4
�	��
����!�
��� :
��
��
� (�� ����
	�


,����������� 3���� ������ Ω �
 C ��� 
,����������
 �
� ������� �
 C#

$�����# 4�� ρ > 0 �
� M = {ω ∈ Ω; |ω| ≤ ρ}' )�	
� ��� ���' ρ 	
��� ρ/|ω2|

��
�;�5 	��� ��� ���
 $������<��
�� Ω = Zτ + Z, τ = x + iy ∈ C, y > 05
���
��
�' )�� ω = mτ + n ∈M ��� m,n ∈ Z5 �� ����� 
��
��
��� ����
���

ρ2 ≥ |mτ + n|2 = (mx+ n)2 +m2y2 ≥ m2y2,

���� |m| ≤ ρ/y' ��	
�
��
��� ����

ρ ≥ |mx+ n| ≥ |n| − |mx|, ���� |n| ≤ ρ (1 + |x|/y) .

 ��
� ��� M 
�	����' �
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���� /�	
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 R12�IT5 ))5 15 K �5 �
� 	
� A���
 12��'
�3 ����
� 	
� 4<��
� 0))3 
�	 0)))3 ��
�� 	
� ����
�	
 ����
�
��


("�&9� �"� ��
� 8
��������� G �= {0} ��� 
�������
 ������
 (Rn,+) ��
�
/���
��
�9

0�3 G ��� �������#

0��3 :� ��,� ��
�
� �

,�0
���� &������
 c1, . . . , cr ∈ Rn , 1 ≤ r ≤ n ���
G = Zc1 + . . .+ Zcr#

$��
� $����� /�	
� ��� ;'8' �
� �' ������� R12B"T5 ��
��
� )'"'"'
�3 ��� 	
� 4
�	��
����!�
��� ��� 
��
 ���(
�	��
 8
	���
�� �� 	�
 D
��!
�	
��
��
 Per f 
��
� �����!��������
� �
�����*�
� 4
������ f �
��
�
��
�'
 ��
� ��� Per f = {0} ����
����� ��� 	
� N����
�
��
 4���O ��;
�
�
�5 -
	��� ��� 
�
�� :����
�
�	
� F
����
����� ���
 )��
�
��
' )�� 0 �= ω ∈ C5 �� ���� 
� �����

��
 ���;
 4
������ f ��� Per f = Zω' ��� (<��� 
������ f(z) = exp(2πiz/ω)'
9��� -� -�����
5 H'  ��"������ R�##�T5 ,��; 1�'7'�5 ���� 
� ;
 -
	
� ���!
;
� 4
������ f ��� Per f = Zω �
��
 
��
 �
� C\{0} �������*�
 4
������ F
��� 	
� $��
�������

f(z) = F (exp(2πiz/ω)) ��� ���
 z ∈ C.

8
:�� �� K 7 �
;
��� (��	5 	��� 
� ;
 -
	
� H���
� Ω �� C �
�� �
�����*�

4
������
� f ��� Ω = Per f ����5 ��� 
��
  ���
����� 	
� �
�	��
����
� $�!
�
�������
� :�� H���
�� �� C ����:���' 9��� 	
� 8
����
��
�� 
��
� ��	
�
�
F
����� �� � �
����
�� 	�
� �� 	
� ���������
� ! ��� �'

�9� �
�
��� :
+"�+� )� A���
 1B7" �
���<�����
 ���� .'H'A' '���&� 0���#
(���� 		5 �7?"#3 ��� 	
� 4���
5 (�
 :�
�
 N
����<����
O D
���	
� 
��
 �����!
��������
 �
�����*�
 4
������ ���
� ����5 
�	 ;
���
5 	��� 	�
�
 F��� �G���!
�
�� ;(
� ���' ,
��
 $��
�����
 ����
��
�
� (�� �� ��	
��
� ,*����
 ���

$���" %�� �
�
��� 	�� Ω ��
� �������� 8
��������� ��
 (C,+) �
� ��
�
ω1, ω2, ω3 ∈ Ω ����,�
 �


 ��,� �� m1, m2, m3 ∈ Z 
���� 
��� ���� �� �
��

m1ω1 +m2ω2 +m3ω3 = 0.

 ���� ���	 ���� -
 	�
� $�
�
��
 :�� Ω ��
� Q ���
�� ���<����' 4�� 
��
�
8
(
�� �
�
�;� ��� 	�
 �� �
�����


��
������8;����<��"����� 2� 7���� ��������
 �

+�
 2
�� N �
� 
���

ω1, ω2, ω3 ∈ C ��,� �� m1, m2, m3 ∈ Z 
���� 
��� ���� ��� ��
 :���
���
!��
%

0�3 |m1|, |m2|, |m3| ≤ N,

0��3 |m1ω1 +m2ω2 +m3ω3| < 6
√

2√
N

· max{|ω1|, |ω2|, |ω3|}'



1� �����	� �� ��������
�	 ��������	�

$�����# ��� �
�;� M := max{|ω1|, |ω2|, |ω3|} 
�	
〈m,w〉 := m1ω1 +m2ω2 +m3ω3 ��� m = (m1, m2, m3) , w = (ω1, ω2, ω3).

,����
J���� (��	 	�� ����
�*�����
�
 V
�	��� �� C ��� ����
�*
��� 0 
�	 ���!
�
��<��
 2K ��� Q(K) �
;
����
�5 ����

Q(K) := {z ∈ C ; |Re z| ≤ K , |Im z| ≤ K}'
4�� ���
 m = (m1, m2, m3)

t ∈ Z3 ���

0∗3 0 ≤ m1, m2, m3 ≤ N

���� 	���〈m,w〉 ∈ Q(T ) ��� T := 3MN '  �
 ����
� :�� Q(T ) (
�	
� �
� �� t
��
���
 �
��
 �
�
���'  ���� 
��<�� ��� 
��
 F
��
�
�� :�� Q(T ) �� t2 V
�	���

	
� ����
��<��
 2T/t'  �
 ��;��� 	
� m ∈ Z3 ��� 0∗3 ��� (N + 1)3' 9��� 	
�
!�������
���
� ,��
���������
�� ��
�
� �� 4��� (N +1)3 > t2 (
�����
�� ;(
�
D
���
 〈m′, w〉 
�	 〈m′′, w〉 �� 
��
� V
�	��� 	
� ����
��<��
 2T/t'  ����

��<�� ��� 	
���  �Q
�
�;���	
�� 
�� 0 �= m ∈ Z3 ��� 0�3 
�	

0∗∗3 〈m,w〉 ∈ Q (2T/t)5 ���� |〈m,w〉 | ≤ √
2 · 2T/t'

��� (<��� �
� 
�� t ∈ Z ��� (N + 1)3/2 > t ≥ (N + 1)3/2 − 1'  ��� ���� ����
(N + 1)3 > t2 
�	 t ≥ N3/2' �
� 0∗∗3 ����� ����� 0��3' �

F
� $����� 	
� �
���� :�� '���&� ���� 
� ���� 1013 
�� ρ > 0 ��� |ω| ≥ ρ
��� ���
 0 �= ω ∈ Ω' 4�� ����
���
�	 ���J
� N ��� 	��
� 	�
 ����
 ,
��
 :�� 0��3
��
��� 9
��' ��

�
� 	
� �
��� :�� '���&� ���� ��� �
� 
��
� �


� 8
(
�� 	
� 4
�	��
�!
���!�
���� ���
��
�'  �
�
� 8
(
�� ��� �
���	���� ����� 
����
�
�����%

)�� Ω 
��
 	����
�
 E��
���
**
 :�� C 
�	 ���	 ω1, ω2 ∈ Ω ���
�� 
����<����
��
� R5 	��� 
����� 	�� �
��� :�� '���&� ������

013 Ω ⊂ Qω1 + Qω2'

,����������� :� ��,� N ∈ N ��� ��� :���
���
!�

Ω ⊂ 1

N
(Zω1 + Zω2).

$�����# ��	
������� (��	
 
� ω ∈ Ω ���� 013 ��� �
��
��� ���J
� 9
��
��
�
�
�5 	' �'5 ��� �<��


0 �= ω′
k =

1

Nk

(rkω1 + skω2) ∈ Ω , k ∈ N5

��� ���;
� F���
� rk, sk, Nk, ggT(rk, sk, Nk) = 1 
�	 Nk → ∞ ��� k → ∞'
 � ��� ���� �		����� �

���
�
� D
���
 �
� Zω1 + Zω2 ���
 $������<��
��
0 ≤ rk , sk ≤ Nk5 ���� �
�� |ω′

k| ≤ |ω1| + |ω2| ��� ���
 k ∈ N ���
��
� 	���5
(��	
 
� 
��
 �
� *���(
��
 :
�����
	
�
� H��
	
�� �
��
�
�	
 ���:
��
��

�
������
 :�� (ω′

k)k∈N �
�
�'  � Ω 	����
� ���5 
�����
� (�� 
��
� ��	
��*�
��'�
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8
��������� 0:��' �' ��$&��	 R12B#T5 ,��; "'"'13 ��� -
	
 E��
���
**
 
��
�

�	���� 
�;

��
� ��
�
� ��
����
� H�
**
 �
���� (�
	
� ��
�' 9��� 	
� D��!
*������� ��� Ω 
��
 E��
���
**
 
��
� !����
 H�
**
5 ���� �
�� ��
�' �
�
�
Zω1 + Zω2 ⊂ Ω ��� Ω ���(
�	�� 
�� H���
�'

!� ��� ��
��� GL (2; Z)�  �
 �
��


Mat(2; Z) :=

{
U =

(
a b
c d

)
; a, b, c, d ∈ Z

}
���	
� �
��������� �
� �����;
�!�		����� 
�	 !�
���*�������� 
��
� ���� ���
$���
�
�
�� E := ( 1 0

0 1 )'  �
 H�
**
 	
� $���
��
� 	
� ����
� Mat(2; Z) �
�J�

�������
� ��
�
�� ������ ��� ��
� ; ",�� Z 
�	 (��	 ��� GL (2; Z) �
;
���!
�
�%

(1) GL (2; Z) := {U ∈ Mat(2; Z) ; 
� ���� V ∈ Mat(2; Z) ��� UV = V U = E}.
=>
�%"���&8("�&� �"� U ∈ Mat(2; Z) ��
� 0/���
��
�9
0�3 U ∈ GL (2; Z)'
0��3 detU = ±1'
0���3 U ��� �
�������,
� ",�� Q �
� U−1 ∈ Mat(2; Z)#
0�:3 ��� -,,����
� U : Z2 → Z2 , x �→ Ux ��� ,�7�����#
0:3 ��� -,,����
� U : Z2 → Z2 , x �→ Ux ��� ���7�����#

$�����#  �
 )�*��������
� 0���3⇒ 0�3 ⇒ 0�:3 ⇒ 0:3 ���	 �Q
����������'
0:3 =⇒ 0��3% $� ���� ���� u, v ∈ Z2 ��� Uu =

(
1
0

)

�	 Uv =

(
0
1

)
5 	' �' UV = E

��� V := (u, v)'  
���  
�
�������
����	
�� ����� detU · detV = 15 ���� 0��3'
0��3 =⇒ 0���3% ��� :
�(
�	
� 	�
 �
�����
  ����
��
��

U−1 =
1

detU

(
d −b
−c a

)
��� U =

(
a b
c d

)
.

�

9
�
� 	
� H�
**
 GL (2; Z) �
������
� ��� ���� 	
� 9������
��
�

0�3 SL (2; Z) := {U ∈ GL (2; Z) ; detU = 1}
:�� GL (2; Z)5 	�
 �� �
�����
 ���+����� ��
�
�� ������ ��� ��
� ; ",�� Z'
�
�
�

GL (2; Z) = SL (2; Z) ∪ SL (2; Z) ·
(

1 0
0 −1

)
��� SL (2; Z) 	
� )�	
� � �� GL (2; Z)'  �
 H�
**
� GL (2; Z) �;(' SL (2; Z)
���	 N��GJ
�O ��� ��� ;
�<���� 	
���% 4�� U = ( a b

c d ) ∈ GL (2; Z) ����� ;
�<����
±1 = detU = ad − bc5 �� 	��� ;' 8' c �
� d ������!���� ��
�' E��
�
��� ����
	��

��+/�&
�+�8$���"� ��
� c, d ∈ Z ������!���� �


 ��,� �� ��
� '
����

U =

(∗ ∗
c d

)
∈ SL (2; Z).



1B �����	� �� ��������
�	 ��������	�

<��� ��� U ,�� 
�! ��
�
 ��
���������
 �
���� ��� ���� ( 1 k
0 1 ) ��� k ∈ Z ��
������

,�������#

$�����#  � c, d �
��
���
�	 ���	5 ���� 
� a, b ∈ Z��� ad−bc = 15 	' �'5 U = ( a b
c d )

�
�G�� ;
 SL (2; Z)' )�� V ∈ SL (2; Z) 
��
 (
��
�
 ������ ��� V = ( ∗ ∗
c d )5 	���

�����

V U−1 =

(∗ ∗
c d

)(
d −b
−c a

)
=

(∗ ∗
0 1

)
∈ SL (2; Z),

���� ���(
�	�� V U−1 = ( 1 k
0 1 ) ��� 
��
� k ∈ Z' �

-�����
�+��� �3  �� 8
��*�
� U = 2E ;
���5 	��� ��� ? �� H
�
����; ;

	
� ������
� ,��
����� ��
� 
��
� �G�*
� ? 	�
 8
	���
�� NU : Z2 → Z2 ���
��-
���:O ����� �� 	
� XM
�:��
�;!,��; �
��
��
� ����'
�3  �� $��<�;
���!�
��� 
���
�� 	�
 ������
����� :�� ;������
� 8
��*�
�
�%
 �
 �����;
�(

3 1
2 1

)
,

(
2 3
3 5

)
,

(
3 10
2 7

)
,

(
89 144
144 233

)
,

(
514 229 832 040
832 040 1 346 269

)
�
�G�
� ;' 8' ;
 SL (2; Z)'
�3  �
 $��
�����
 	�
�
� ���������� ����
� ���� �
� ����� ����� �
���� �
� n× n
�����;
� ��
�����
�' ��� :
���
���
 @'1'1 �	
� �' ������� R12B"T5 .��*' )5
�	
� �' 
�)��� R126�T5 .��*' ))'

1� -"���8$���"� ��� Ω ��
 ������ �
 C �
� (ω1, ω2) ��
� $
��� ��
 Ω# �"�
ω′

1, ω
′
2 ∈ C ���� �


9

�3 ��

� �


 ������
 ω′
1 �
� ω′

2 +� Ω ��

 �� ��
 U ∈ Mat(2; Z) ��,� ���(
ω′

1

ω′
2

)
= U

(
ω1

ω2

)
.013

�3 ��

� �


 ��� (ω′
1, ω

′
2) ��
� $
��� ��
 Ω ��

 ��� '
���� U �
 013 +�

GL (2; Z) ������#

$�����# �3 ,��	 ω′
1, ω

′
2 �
��
���
 D
���
 :�� Ω5 	��� ���� 
� a, b, c, d ∈ Z ���

ω′
1 = aω1 + bω2 , ω′

2 = cω1 + dω2,

���� (
ω′

1

ω′
2

)
= U

(
ω1

ω2

)
��� U =

(
a b
c d

)
∈ Mat(2; Z).0∗3

H��� 
��
�
��� 0∗35 �� �
�G�
� ω′
1 
�	 ω

′
2 ;
 Ω'

�3 )�� (ω′
1, ω

′
2) 
��
 8���� :�� Ω5 	��� ���� 
� �
�� 
��
 ������ V ∈ Mat(2; Z)

��� 	
� $��
�������
(

ω1

ω2

)
= V

(
ω′

1

ω′
2

)
' $� �����(

ω1

ω2

)
= V U

(
ω1

ω2

)

�	

(
ω′

1

ω′
2

)
= UV

(
ω′

1

ω′
2

)
.



�� �	
���	� ��� ����	
 12

 � ��
� (ω1, ω2) 
�	 (ω′
1, ω

′
2) ��
� R ���
�� 
����<���� ���	5 ��� ��� V U =

UV = E5 ���� U ∈ GL (2; Z) ���� "013'
)�� U ∈ GL (2; Z)5 	��� ���	 (ω′

1, ω
′
2) �� 0∗3 ;
�<���� ���
�� 
����<���� ��
� R'

4�� �
��
���
 ω′′
1 , ω

′′
2 ∈ Ω ���� 
� ������ 
�� W ∈ Mat(2; Z) ���(

ω′′
1

ω′′
2

)
= W

(
ω1

ω2

)
, ����

(
ω′′

1

ω′′
2

)
= WU−1

(
ω′

1

ω′
2

)
.

 ���� ���	 ω′′
1 , ω

′′
2 -
(
��� ���
�������������
� :�� ω

′
1, ω

′
2 ��
� Z' ���� ��� ω′

1, ω
′
2


��
 8���� :�� Ω' �
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$� �
� Ω 
�� H���
� �� C 
�	 (ω1, ω2) 
��
 8���� :�� Ω' 4�� u ∈ C 	
/��
�� ���
	�� �������
�
�
�������
�� 0�
;������ ω1, ω2 ��� $
�����
�� u3 	
���

0�3 �(u;ω1, ω2) := {u+ α1ω1 + α2ω2 ; 0 ≤ α1 < 1 , 0 ≤ α2 < 1}'
)� 4��� u = 0 ����
��� ��� �
��

073 �(ω1, ω2) := �(0;ω1, ω2) = {α1ω1 + α2ω2 ; 0 ≤ α1 < 1 , 0 ≤ α2 < 1}

�	 �
��� �(ω1, ω2) �
�� 
��
 ���
��
���� 	
� H���
��' A
	
� D
���	
�*����!
�
������� P := �(u;ω1, ω2) ��� 
�� ��
�
��
�
�,������ :�� C �
;������ Ω ��
����
�	
� ,���
%

,���������� ;� 2� 7���� z ∈ C ��,� �� ��

� ��
 ω ∈ Ω ��� z + ω ∈ P #
������
 �
�,���
���� z �
� z + ω , ω ∈ Ω +� P  �


 ���� ω = 0#

$�����# ��� (<��
 ξ1, ξ2 ∈ R ��� z − u = ξ1ω1 + ξ2ω2 
�	 �
	
;�
�
 ξ1 
�	 ξ2
��	
�� 1' �

9�������� ���� 
� ;
 -
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� :�
�
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